

Big Echo Creative 401 W Main St. Ste. 311 Lexington, Kentucky 40507 United States

Phone: 859-309-5454 ext. 1 Mobile: 502-460-0607 bigechocreative.com

BILL TO Spencer County Middle School

Matt Mercer

matt.mercer@spencer.kyschools.us

Estimate Number: 362 - B

P.O./S.O. Number: Etchmark Media

Center

Estimate Date: October 20, 2021

Expires On: November 4, 2021

Grand Total (USD): \$36,262.37

Items	Quantity	Price	Amount
PRINT GRAPHIC A Printed Etchmark (Frosted Material) w/ Cutouts 77 sq ft. *Price includes installation	1	\$934.00	\$934.00
PRINT GRAPHIC B Printed Etchmark (Frosted Material) w/ Cutouts 77 sq ft. *Price includes installation	1	\$934.00	\$934.00
PRINT GRAPHIC C Printed Etchmark (Frosted Material) 72 sq ft. *Price includes installation	1	\$854.00	\$854.00
PRINT GRAPHIC D Printed Etchmark (Frosted Material) 34.5 sq ft. *Price includes installation	2	\$375.67	\$751.34
PRINT GRAPHIC E Vinyl w/ Matte Lam 80.5 sq ft. *Price includes installation	1	\$621.00	\$621.00



Big Echo Creative 401 W Main St. Ste. 311 Lexington, Kentucky 40507 United States

Phone: 859-309-5454 ext. 1 Mobile: 502-460-0607 bigechocreative.com

Items	Quantity	Price	Amount
PRINT GRAPHIC F Vinyl w/ Matte Lam 34 sq. ft. *Price includes installation	24	\$438.57	\$10,525.68
PRINT GRAPHIC G Vinyl w/ Matte Lam 1.33 sq ft. *Price includes installation	23	\$14.56	\$334.88
PRINT GRAPHIC H Vinyl w/ Matte Lam 30 sq ft. *Price includes installation	4	\$264.00	\$1,056.00
PRINT GRAPHIC I Printed Etchmark (Frosted Material) 26 sq ft. *Price includes installation	2	\$229.33	\$458.66
PRINT GRAPHIC J Printed Etchmark 74.5 sq ft. *Price includes installation	2	\$933.93	\$1,867.86
PRINT GRAPHIC K Window Perf 26 sq ft. *Price includes installation	2	\$320.00	\$640.00
PRINT GRAPHIC L Window Perf 20.5 sq ft. *Price includes installation	6	\$249.64	\$1,497.84



Big Echo Creative 401 W Main St. Ste. 311 Lexington, Kentucky 40507 United States

Phone: 859-309-5454 ext. 1 Mobile: 502-460-0607 bigechocreative.com

Items	Quantity	Price	Amount
PRINT GRAPHIC M Window Perf 169 sq ft. *Price includes installation	1	\$2,026.43	\$2,026.43
PRINT GRAPHIC N Vinyl w/ Matte Lam 3 sq ft. *Price includes installation	1	\$46.67	\$46.67
PRINT GRAPHIC O Window Perf 109 sq ft. *Price includes installation	1	\$1,134.67	\$1,134.67
PRINT GRAPHIC Q Window Perf 390 sq ft. *Price includes installation	1	\$4,064.00	\$4,064.00
PRINT GRAPHIC R Vinyl w/ Matte Lam 175 sq ft. *Price includes installation	1	\$1,479.33	\$1,479.33
PRINT GRAPHIC S Window Perf 26 sq ft. *Price includes installation	6	\$280.00	\$1,680.00
PRINT GRAPHIC U Vinyl w/ Matte Lam 15 sq ft. *Price includes installation	1	\$184.67	\$184.67



Big Echo Creative 401 W Main St. Ste. 311 Lexington, Kentucky 40507 United States

Phone: 859-309-5454 ext. 1 Mobile: 502-460-0607 bigechocreative.com

Items	Quantity	Price	Amount
PRINT GRAPHIC X Window Perf 115.5 sq ft. *Price includes installation	1	\$1,216.67	\$1,216.67
PRINT GRAPHIC Y PRINTED ACM (Metal Material) Plan to install directly into the wood frame on the backhand side. Printed side will face out into the hall. *Price includes installation	2	\$670.67	\$1,341.34
GRAPHIC DESIGN Graphic Design Time Also Includes Grizzly, All Window Designs, File Set up & Preparing Files for Print *Price Discounted from \$125/hr	24	\$90.00	\$2,160.00
PRINT GRAPHIC Z Window Perf Est. 38 sq ft. *Price includes install	1	\$453.33	\$453.33
		Total:	\$36,262.37
		Grand Total (USD):	\$36,262.37



Date: September 16, 2021

TO:

Spencer County Early Learning Center Contact: Todd Russell 110 Reasor Ave. Taylorsville, KY 40071 SHIP TO:

Spencer County Early Learning Center Contact; Todd Russell 110 Reasor Ave. Taylorsville, KY 40071

Phone:

Email: todd.russell@spencer.kyschools.us

Comments or special instructions:

JOB / PO#:

QTY	DESCRIPTION	UNIT PRICE	TOTAL
2	[ITEM A] Entrance A: 10 Sq. Ft. 80/20 window perf	\$100.00	\$200.00
1	[ITEM B] Front Right Windows: 85 Sq. Ft. 80/20 window perf	\$850.00	\$850.00
1	[ITEM C] Left Side Windows: 148 Sq. Ft. 80/20 window perf	\$1480.00	\$1480.00
1	[ITEM D] BACK ENTRANCE: 29 Sq. Ft. 80/20 window perf	\$290.00	\$290.00
-			
	SUBTOTAL		\$2820.00
	SALES TAX		EXEMPT
	ARTWORK/DESIGN PROOF FOR APPROVAL [2 @ \$95/HR]		\$190.00
DELIVERY / INSTALLATION		\$895.00	
		TOTAL DUE	\$3905.00

Services: Upon acceptance by you, Graphics For Athletics will perform the printing and/or other services described in the estimate. Any additional services requested and not covered by the estimate will incur additional charges. Charges: The charges for the services are described in the estimate, subject to adjustment as provided in these terms, and you agree to pay for such charges. Payment: Please make checks payable to: Graphics For Athletics. We do expect payment within 21 days, so please process invoice within that time. There will be a 1.5% interest charge per month on late invoices. Credit Cards also accepted.











Thank you for choosing Graphics For Athletics and Thank you for your business!





